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2N
X ZH -
L= B

el

- _ _ RE]
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
ONESCNE NSTANLE SDx 89
33,011,000 7% 2,311
03 A2 G| 3,000 4,000 A 1,000
ONSTNE 2YX ABAHLY 29
3,000,000& 3,000
202 04| 2,640 2,640 0
01 2Ll 2,640 2,640 0
OS2 AS 2 2H AS =S 2,640,000& 2,640
203 € R F=&d| 2,500 2,500 0
03 AIEH =X 2 F XY 2,500 2,500 0
OB A &5 HI2FXN 2,500,000& 2,500
204 = 2 =8 A H| 16,200 13,800 2,400
03 EHYRAL| 16,200 13,800 2,400
ool &= 50,000 x27% x12& 16,200
301 et A= 28,980 28,320 660
12 JIEtE2 A= 28,980 28,320 660
O=2g A2 A2 NEAX AH 24
10,000& 2% 100 A~ «80L 16,000
OE=EASstZ 2 0a 2HAHY] 12,980
O2Y &2 & 110,000& 10 & *53] 5,500
OAE &2 M2 110,000 3401 A x23| 7,480
308 XXIGHH SO0l & 10,000 0 10,000
10 B 2SHUSE AN E A 10,000 0 10,000
O2NESIINFSHE HEEAMZ SAHISE A
29dl A& 10,000,000 10,000
402 SI2F 20| & 68,000 60,000 8,000
01 BIZtXIEAYE X (KM ) 68,000 60,000 8,000
OAE H2EAE TAHAZAH XS
2,000,000 3404 2~ 68,000
403 XX SHHS K20 & 20,000 23,000 A 3,000
02 ZI2SOHUSA=2EAEAIS Y 20,000 23,000 A 3,000
O2MSSIHEAEH HEEZAH2 EAF2Y
20,000,000 20,000
405 XHAHFEEHI 30,000 30,000 0
02 = A 2| 30,000 30,000 0
0ZY HSEAB SATY
3,000,000 * 1004 &~ 30,000
22 A HE 2 29 2,708,238 2,785,114 NT6,876
= 99,671
Al 140,000
= 2,468,567
HIAEETAS 29 205,700 174,547 31,153
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B ZBCHD HE L 29
Sel BBEMT A L 29 (S &2)
SA B ER(EN) - AR - BES of & o4 San HIDZ2
201 fEt2E | 76,860 95,755 18,895
01 At 2t 2l bl 5,540 22,264 N16,724
Oget+ZHl 5,540
O2E2 AH 2SHM 2L 1,500,000& 1,500
OHMUATEYN F 4,040
. ANHE 340,000& »22& 680
. PCB 21,0003 x160& 3,360
02 S2=24Hl 71,320 73,491 A2, 171
0532 £ MA 11,040
O2lHY dE3d AHEZ 920,000& =12& 11,040
OAZ&HIFXH 60,280
OANH ¥ UWERZI KRXE+ 34,940,000 34,940
OENEESEANLYE & EHOXN FANES
22,040,000 22,040
O™ LAl UPS HHE 2l w Xl 110,000& =304 3,300
207 Ao 22,000 0 22,000
02 & AR 2] 22,000 0 22,000
OSF=SEEAM& ESHOIX JH&® 22,000,000& 22,000
405 At&tH = HI 106,840 78,792 28,048
01 MM =S FHSH 106,840 78,792 28,048
O0EXN & A2 BRE WA 74,000
OdHAEA2 CIXNEXNZY OIENY
1,000,000 *44CH 44,000
OdbtA= A2 EAM2% 1,000,000 »25CH 25,000
O2BIBJIM& T A22 1,000,000 504 5,000
OodL et Wi 24,640,000 24,640
OJtatst MH w XAl 8,200,000& 8,200
MSURNHIA 29 45,500 51,500 6,000
201 fet23E | 45,500 51,500 26,000
01 At 22l bl 45,500 51,500 A 6,000
Oget+ZHl 45,500
OEANZ 23S MAH 1,000& «5,000& 5,000
Otfisea M 500& *3&5+1,000& 1,500
OdIUXAEIA HIESZE
5,000& »65021 x 12 39,000
=FCAH2 X& 80,000 99,200 219,200
Al 40,000
= 40,000
308 XXM SO0l H 80,000 99,200 219,200
Al 40,000
= 40,000
08 WHRII20Het 2 X 80,000 99,200 219,200
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B ZBCHD HE L 29
Sel BBEMT A L 29 (S &2)
SA - BB B () - MM - BES Ol &t o San HmEET
OSFT NS SAERE T2 29
20,000,000& 20,000
OS2 N2 TAHATLH 60,000,000& 60,000
Al 40,000
[ia 20,000
SNEs A5 2,100 23,100 A 21,000
307 21201 A 2,100 2,100 0
04 QIZFHALAIH E = 2,100 2,100 0
OO0l sSA =2=2 AL XI& 2,100,000 2,100
SFHHIRIEAZ 2 1,012,876 1,107,783 A 94,907
Al 60,000
i 952,876
101 @124l 79,191 96, 262 217,071
04 D12t 22 HEE = 79,191 96, 262 A17,071
olnzd 29 & NzdHel EX 79,191
OoJles 68,720 x4H x 167 45,905
Osg=+% 68,7203 x4H 77 21,166
(@FNE=3:] 5,0003 x4 x167 3,340
O= &l 5,0003 x»4H 167 3,340
ONs=g 3,840
o B X 40,0003 *4H 82 1,280
. HMAH 20,0002 »4H +83 640
. =AY 60,000& »4H +8& 1,920
OFE FItHI 400,000& x4 «13] 1,600
201 LB-2E| 518,429 537,814 A 19,385
01 At 2t 2l 232,739 294,124 A61,385
OBt~ 196,559
OgZ= HMA 7,900
. CIEA, S5, S0ty HMA
2,500& =1,000H 2,500
JBAL BAO FEX M
600,000& x93| 5,400
OFAE €37 2aRE 72 532
. Sl¥E €28 Zetel= 100,000 <44 400
. delEIHE 33,000& =44 132
OEAN2 UsstEH A28 +¢ 2,998
=M S Z(RFID) 1,500& 1004 150
. ZEX 2,540& 2004 508
ey cl& 390, 000& =64 2,340
OcME2E8E ¢ 25,800
. &A OI200H ¥ HHIEdZ
1,600 *13,0004 20,800
. EMEC ARE 1,000& *5,000H 5,000
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2N S A2
HH: DIZCHDT HE U 29
Chel 32 2 2 29
SA - ZE-B(EN) - NRAY - B S il
OcM2t 2285 7¢ 8,800
. A2 BREES 600,000& 57 & 3,000
. PUAE 2223 300,000& x103l 3,000
. ZolZeH EH ¥ EE 350,000 8 2,800
OgfIdss 7+ 500,000& 500
&Iz = 28,740
. BXMIZ2E= 40,0003 x 165128 7,680
. A2 15,000& 175128 3,060
o & 10,000& 1508 128 18,000
O3t &l 282 45,0003 *123] 540
O=SAHE ¥MEHO +8 25,000& 7004 17,500
OL 2t Ed Mpe0
10,000& »12E 163l 1,920
OENM2 228 R (FEXN S)
12,000, 000& 12,000
O&+ 72 2 ME(ZERE) 300,000 300
OtZe stz + 1,500, 000& *23| 3,000
OAYAL waiBel 9% 442
350,000& =122 4,200
O&Jlgtd e W= 860,000& »12& 10,320
Ol gl&e =2 560,000 »12& 6,720
OoaEZHEd =2
4,198,2203 18 128 50,379
ORoZHEY =2 350,000& »12& 4,200
OstEa g2 =2 400,000& x12& 4,800
OEANYIALASE =2 500,000 *83| 4,000
Os2ZJ] EJIE8M =8
120,000 »3CH 13l 360
O&U3I18 =& =2 1,000,000& =13 1,000
OZANIA HIOIZMN =2 50,000& x13] 50
ogxz 36,180
Oxeg 150,000& »2CH 128 3,600
O=AtJ| 300,000& =10+ 12& 3,600
O&=7| 50,0003 +9CH+12& 5,400
O3J1&EED| 50,000 x14CH 128 8,400
(©)=1RE 23,0003 «55CHx128 15,180
02 =24l 267,190
o0z22= % HA 89,860
ONIIe=a 5,200,000& x12& 62,400
O&otl=E2=a 1,000,000& »12& 12,000
OEANIARZ 1,000,000& »12& 12,000
OR&HY 38 MEZ 30,000& 12 360
Osde3 50,000& x12& 600
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SN EAD
B ZBCHD HE L 29
Sel BBEMT A L 29 (S &2)
SH-HH . B(SH) - HBAMY - B2 o AF o San H D2
O23Jt A= HOotE 2AIEE
370,000& «123] 4,440
OLUER3INE SHUES AT
190,000& *163] 3,040
307 212t01 & 170,876 163, 187 7,689
05 A2t &= 170,876 163, 187 7,689
O M2 HA HEAE2A  4,191,000& x3H x12& 150,876
OEMNZ JIHE & HAE2Y 20,000,000& 20,000
405 XHakF SHI 166, 100 198,000 A 31,900
Al 60,000
= 106, 100
01 A&t =S F SHI 8,600 3,000 5,600
OXz A AL P 500,000& =104 5,000
OeolXRza MIF 7 900, 000& =44 3,600
02 & A7 b 157,500 195,000 A 37,500
O=ENM7¢ 10,000& x12,000& 120,000
Al 60,000
2 60,000
OHEM7L 37,500
(@FSPAE 50,000& *300& 15,000
Oobe= 100,000& *1505 15,000
ODVD 25,000& *x300& 7,500
FSINBINEANZ 2 719,623 240,811
Al 20,000
= 699,623
101 @121l 59,394 20,888
04 JI2ZtHZ2E2XNEE* 59,394 20,888
oltzd 29 & IHgde X 59,394
oJN=3 68,7203 *3H x 167 34,429
Osg=x¢ 68,7203 *3H x77L 15,875
[@InE==3:]! 5,000& x3% 167 2,505
[Or=2=1:l 5,000& *x3% 167 2,505
Oons==4 2,880
. BHS Xt 40,0003 *3H x8& 960
D (DE! 20,0002 x3H x8& 480
., SMAY 60,000& *x3YH 8 1,440
OY &SIyl 400,000& *3H 13| 1,200
201 et A | 226,013 2,106
01 AFR 2t 2l bl 137,294 N314
O get2H| 124,106
OEM2 29285 7¢ 17,980
, SEEd 29EE 2 3,000,000 3,000




SN EAD
B ZBCHD HE L 29
Sel BBEMT A L 29 (S &2)
SN EB S (3H) - NEAY - BES ofl &k o San HDE2
, CIXEXz2d dMA2E 2
3,000,000 3,000
., glo] ¥ ROz A 2d8E 7Y
3,000,000& 3,000
. EAE ARE R2Y 3,000,000& 3,000
. BHIEEH EYH 7Y 500, 000& =64 3,000
. 2ANSX(AM) 2 16,500 x 1208 A 1,980
. SIRIIYMEMN S AA &AM 500,000 500
, M EE P2 500,000 500
O&FR 2 L HE(s2A) 300,000& 300
ostgdile & #+¢ 900,000 %4 3| 3,600
O=s2= HZ 4,950
, ENS 2IER S EEZ2 ME
3,950,000 3,950
SHEY BA B2 H#4Y% S
125,000& *83] 1,000
O A2 SHAF AFRIE HI & 430,000& 430
OZAMEeEE 2¢ 9,675
. = A RFID EAO 4003 x5, 0004 2,000
. COY RFID EHO 1,600& *1,000H 1,600
. EHOESAEIA 65& *5,000H 325
. &N 0I3AG0IH & HHEH
1,000\_4*5,0003H 5,000
. RFID EAM&C2 22 150& *5, 0004 750
O=AEE #HPHO L 25,000& *3004 7,500
O&IItdtE 5 15,192
, AN EZE = 440,000 x12& 5,280
N2 13,0003 x175x12& 2,652
. &K 11,000& *55& 128 7,260
OJSHX 85 =iyl 15,000 x12& 180
OoeEFHIEH =5 4,198,220 x12& 50,379
OAagordae HdE= 190,000& =128 2,280
ORoAFH S8 =2 200,000& x12& 2,400
OFANLEALAS =3 300, 000& *63] 1,800
O&J|otE e = 170,000& ~12& 2,040
OsdI A& =2 250,000& «12& 3,000
OS&A A2 =2 200,000& x12& 2,400
(@R PNE=3 13,188
OxZe2lgH 150, 000& =20 x12& 3,600
O= A 300,000& 10 =12& 3,600
O& %I 50,000& *4CHx12& 2,400
odldl 23,000 «13CHx12& 3,588
02 332494l 80,719 78,299 2,420
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SN EAD
B ZBCHD HE L 29
2 SSEMS A ¥ 23 (&)
SA - BB B () - MM - BES Ol &t o San HmEET
OSHzE 28 ZA==ZY 110,000& *123] 1,320
OSABE S2T208 AALY
110,000& *503] 5,500
OFAY HMANFI| 2ststn ZA=E
110,000 82| 880
O=E&EH Az 21 E= MER HEF 2A
=g 110,000& *203| 2,200
307 21201 A 56,981 48,479 8,502
05 22t E = 56,981 48,479 8,502
OEAM2 EAt EAEY ,130,000& «1H 128 49,560
O M2 Bt & 24 7,421,000 7,421
401 Al HIZ 201 I 215,815 0 215,815
01 A& HI 215,815 0 215,815
OYHHE I WHBA 182,115,000& 182,115
ogg4a & MO Z W SA
10,000, 000& 10,000
Omiet wiMIEAt 23,700,000 23,700
405 RHoHF S HI 107,000 115,700 A 8,700
Al 20,000
s 87,000
01 AL EZFH S 37,000 35,700 1,300
oZel=Zgd 1,700,000& 1,700
(©F=FS ) 800,000& 800
OoeolXt=4a MO 5,500,000& 5,500
OXES(EZEZ) WA 23,000,000 23,000
O& =2 AHAICH 6,000,000& 6,000
02 = A=l 70,000 80,000 A 10,000
oM7Y 65,000,000 65,000
Al 20,000
[ia 45,000
OHIEAd7¢Y 5,000
ODVvD 5,000,000 5,000
EFTIACA22Y 417,588 592,416 A 174,828
Al 20,000
[ia 397,588
101 @124l 59,394 29,343 30,051
04 JI2ZtHZ22HEE = 59,394 29,343 30,051
olza 29 & NIz 22X 59,394
OPIE--3= 68,7203 x3YH x 167 34,429
Osg=+% 68,7203 x3H 77 15,875
On st 5,0003 x3Y x167 2,505
O= &l 5,0003 x3 167 2,505
ONEs=g 2,880
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B ZBCHD HE L 29
Sel BBEMT A L 29 (S &2)
SH-HH . B(SH) - HBAMY - B2 o AF o San H D2
. BiS Xt 40,0003 *3H x8& 960
. AWMAY 20,000 *3H «8& 480
. SEMAYE 60,000& *x3H 8 1,440
(@F=FSE=l 5] 400,000& *3H *13] 1,200
201 LEr2 Y| 187,674 180,713 6,961
01 At 22l Yl 130,395 155,848 N 25,453
O Yet+Z2H| 122,739
O=sE2=s HZ 3,500
L ES8 B40% U MOX M
500,000& *23] 1,000
., a5 % B0/t M 2,500 x1,0007H 2,500
O&IIAHHE = 6,300
. AE 15,000& x10&5*12& 1,800
. &Kl 15,000 x25&5 128 4,500
O3JAs ¢330 A28 ¢ 2,500
. SRS Y3 E Zde=2 100, 000& *x5H 500
., deldate 400,000& =54 2,000
OEM2Z2 NS EH A28 7 3,020
. SNSE(RFID) 1,500& *200 4 300
S&HeD| 2= 40,000& =54 200
., G5 EX 2,600 20004 520
el 2le 400,000& =54 2,000
O=EMECESE ¢ 19,800
. EA 0I30I0IH ¥ HHESEE
1,600& *7,000H 11,200
, HHEANX OH3H0IE € EHEd9&
1,000 =1, 0004 1,000
. EAEZ A3 1,000& *7,000H 7,000
. COA&EAHOIA 6002 *1,0004 600
O 2EEE 7Y 10,420
. SEzA 29EE P2 2,000,000& 2,000
. elola 2822 #¢ 2,000,000 2,000
. OXE 324 23835 #¢
1,100,000& 1,100
. SAEX 2L 16,5003 80 A 1,320
. ZetZele JtECIKN F#¢ 2,000,000 2,000
, APRA AIREE 7Y 1,000,000& 1,000
, SHE P9 5,000& *200H 1,000
ogaa 331 2 300,000& 300
OZIHMA 32 2 2,000,000& 2,000
Ost&a 25 U (FHX S)
300,000& x12& 3,600
Oo4dzdEss ¢ 500,000& 500




SN EAD
B ZBCHD HE L 29
Chel 32 2 2 29 (&)
SN FHE - B(BA) - MRAY - BHES Ol &t o4 San Hl B E2
Oigtotdze| HEH S 180,000& »12& 2,160
O&Jlerd e = 120,000 128 1,440
Os2dIl AL =25 250,000& »12& 3,000
OogZHES =2 4,198,220& «12& 50,379
OfoZHEA =2 110,000& = 12& 1,320
O=SAHE #2240 2 25,000 5004 12,500
ogxtz 7,656
O& =7 50,000 *3CH 122 1,800
O3J1&EED| 50,0003 «7CH*12& 4,200
odldl 23,000 60 122 1,656
02 8323l 53,279 24,865 28,414
o0z22= % HA 33,270
odIIe2 2,200,000& x12& 26,400
O&ol=E=a 150,000& 123 1,800
Osdteza 3,600
. d3te3 100,000& =128 1,200
. CIHY MESH AHEZ  200,0003 <128 2,400
OTv=tlg 30,000& x12& 360
ORER3 200,000 200
O M2 3l 410
StEZ M2E3 A3l 110,000& 110
. SBEA2EI A3 300,000& 300
Ost=2 XL HE S A S I 500,000& 500
O A& EHl =Xl 20,009
OEAME A RAI22] 8,000,000& 8,000
OLZEYNH SANE= 1,589
. ROHAIOIE XY T2 ) 449,000& 449
. IXNEHEA 0Kt ofl¢zel
1,140,000 1,140
Ot |2l 4,000,000& 4,000
OEAd& 2Z+ 2l 6,000,000 6,000
O283a & =2 420,000& 420
03 A2 Z Hl 4,000 0 4,000
O M& =2t &AL 1,000,000 1,000
O=AM2 g A 3,000,000& 3,000
202 O4dl 800 800 0
01 =S LH YI 800 800 0
O M2 &2d EtXIAM As 800,000& 800
301 LPEXF 32,160 240 31,920
12 J|EtE4 3 32,160 240 31,920
OX& SALA A2 & 10,000& x4H x 123 480




SEA: E A2
B ZBCHD HE L 29
Sel BBEMT A L 29 (S &2)
SN EB S (3H) - NEAY - BES ofl &k o San HDE2
O=A 2 =523 TN+
110,000& *8 1t = *x36F 31,680
307 QI2t0| & 52,560 28,280 24,280
05 QIZtR &2 52,560 28,280 24,280
SN HAL HAESE 4,130,0008 x1H x12& 49,560
OFA & =XE HIE HA 3,000,000& 3,000
405 XHakF SHI 85,000 327,040 A 242,040
Al 20,000
= 65,000
01 A&t =S F SHI 5,000 249,040 N 244,040
OAIDILHA JHHIS 1,000, 000& 1,000
ONDOILIa Zos &8 500,000& =14 500
O=22 HA 2,000, 000& 14 2,000
OHM& I 750,000 =2CH 1,500
02 T AT 80,000 78,000 2,000
OEAN7Y 75,000, 000& 75,000
Al 20,000
= 55,000
OHIEARY 5,000
ODVD 5,000,000& 5,000
SET A Jf2AIZ2E AEALS 178,181 57,756 120,425
=2 77,991
= 100, 190
101 2124 d| 178,181 57,756 120,425
= 77,991
= 100, 190
04 JIZtHI2E2 NS E = 178,181 57,756 120,425
OB2= M2 JHZAIZE HEALS 178,181
OSFHHRAZT M2 2,474, 7103 »4H +»8& 79,191
= 34,176
= 45,015
OS2FSISINEAM 2,474, 710& 3% »8& 59,394
= 26,727
iy 32,667
OSFHMT A2 2,474, 7103 »2H »8& 39,596
= 17,088
= 22,508
SN2 O23tMEIA XALE 2,400 0 2,400
= 1,680
= 720
201 Bt A H| 2,400 0 2,400
= 1,680
= 720
03 A2 E H| 2,400 0 2,400




2N S A2
Hu: ZTCHB HE Y 29
S BTSN AR L 2Y CERED
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
OSXM #s=0l 2,400,000& 2,400
= 1,680
[ia 720
Sl Fa g e Rl = el 44,270 0 44,270
= 20,000
i 24,270
201 2et24E] 7,710 0 7,710
= 7,710
01 At 22l 7,710 0 7,710
OAZERAN ¢ 7,710
O2gAa&0U2 270,000& »4H 1,080
= 1,080
OXEY 510,000& » 134 6,630
= 6,630
301 LeHBAF 23,760 0 23,760
= 6,290
s 17,470
12 J|EtE& = 23,760 0 23,760
ovtstZ=z 8 LA+g
110,000& 61t S +36=F 23,760
= 6,290
s 17,470
405 XtatE SHI 12,800 0 12,800
= 6,000
s 6,800
01 XA = ZFH SHI 12,800 0 12,800
Othex 2,300,000 *4CH 9,200
= 6,000
e 3,200
©PC 900, 000& *4CH 3,600
HYRIZH (=AM 21) 313,334 277,726 35,608
oI (S A 21) 174,510 157,334 17,176
olHA2HHI (M 2t1t) 174,510 157,334 17,176
101 124 dl 174,510 157,334 17,176
01 2= 174,510 157,334 17,176
OANZAZ2R=E 11,6343 +50A] 2H+25H 128 174,510
JI2ZH (=M1 138,824 120,392 18,432
22 (=21 138,824 120,392 18,432
201 Let24E] 50,684 44,972 5,712
01 At 22l 50,684 44,972 5,712
OB+t 15,740
OSHM&2H 15,740,000& 15,740
O= &l 8,000 x28H 134 x12& 34,944
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<

n0

Kio

Hl w

11,520

11,520

1,200
1,200

H3r
Wikd
RIS

69, 120
69, 120

6,300
6,300

Off &t 24

80,640
80,640
80,640

7,500

7,500
7,500
4,200
2,100

1,200

202 Oddl

01 =LHOI I

Hx128

=

21%28

240,000

Li o4 I

o2

KJ
KE
ok
oD

128
128
128

2 *

AT HB

< Ht

)

Kk

350,000
175,000
100,000

o

2 *

£l
x
H
<0
Ll
Kk
Ot




